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Missing dividends and divisors

Multiplication Practice Worksheet

Find the missing numbers.

420 + 14 = 165 + = 11
480 + 5 = 1,064 + 19 =
2,001 + = 87 16,146 + 18 =

+14 = 34 3,468 + 6 =
16,131 + = 849 5250 + 15 =

+ 16 = 544 420 + 6 =

+21 = 53 4,400 + = 400
6,120 + 20 = 1,344 + 21 =
270 + 10 = +11 = 80
588 + 12 = 14,250 + = 750
6,669 + = 741 +19 = 60

+ 5 = 921 +9 =712
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Missing dividends and divisors

Multiplication Practice Worksheet

Find the missing numbers.

420 + 14 = 30
480 + 5 = 96
2001 =+ 23 =87

476 + 14 = 34

16,131 + 19 = 849
8,704 + 16 = 544
1,113 + 21 = &3

6,120 + 20 = 306

270 + 10 = 27
588 + 12 = 49
6,669 + 9 =741

4,605 + 5 = 921

165 + 15 =11
1,064 + 19 = 56
16,146 + 18 = 897
3,468 + 6 = 578
5,250 + 15 = 350

420 + 6 = /70

4,400 + 11 =400

1,344 + 21 = 64

880 + 11 =80

14,250 + 19 =750

1,140 + 19 =60

6,408 + 9 = 712
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